BRX Universal Receiver Box Set
w/ Silicone Seals (#BRLC7033)

@ M3x10RS x 2

*Note:

To fully waterproof the BRX Receiver Box,
apply grease or liquid tape in and around the
two silicone seals to create an airtight seal.

WWW.BOOMRACINGRC.COM

Installation Manual

2N
©)
M2.5x6 RS x 2

/‘i\

Silicone Port*
#BRLC7033A

@
M3x8RS x 4

(3) Silicone Seal*
\Z/ #BRLC7033A

Upgrade to this BRX Universal Receiver Box w/
Silicone Seals to protect electronics. Brass
inserts molded inside the plastic receiver box
allow you to torque the screws down tightly
without damage.

The silicone seals are designed to create an
airtight seal. Includes a rust-resistant stainless
steel sealing plate.

Parts Included:

(1) Stainless Steel Sealing Cap
(2) Receiver Box Lid

(3) Receiver Box

(4) Silicone Port (#BRLC7033A)
(5) Silicone Seal (#BRLC7033A)
(6) M2.5x6 Round Head Screw
(7) M3x8 Round Head Screw
(8) M3x10 Round Head Screw

#boomracing SRE: www.facebook.com/
boomracingrc

www.boomracingrc.com

BRX
Universal Receiver Box Set
w/ Silicone Seals
(#BRLC7033)

eNJOY BEING A BADASS

Copyright © Boom Racing Co. Ltd




